
Use the lab data attached to determine if Subpart CC control is required under the 
following situations: 
 
 
A) As individually generated (greater than 500 ppmw?) 

B) If a generator blends the wastes all together (are any of the wastes greater than 500 
ppmw?) 

C) If a TSDF receives the blended wastes (is the blend greater than 500 ppmw?) 

 
 
Describe the Subpart CC controls required, and be prepared to demonstrate your findings 
to the whole group using the props provided. 
 
 
 
Waste Volumes 
 
4 drums at 50 gallons each (for the waste with the lowest sample number) 
2 tanker trucks at 4,000 gallons each 
3 roll offs at 10 cubic yards each 
1 tank at 12,000 gallons 
2 frac tanks at 20,000 gallons each (for the waste with the highest sample number) 
 
 
 
 
The following conversions may be helpful: 
 
7.48 gal/cf 
3.80 l/gal 
 


